Name: Class: Date:

English in Action Book 1 Unit 3

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Choose the correct answer.

1. Q:Is Margaret's hair long?

A:Yes,it .
a. is
b. isn't
c. long
d. this
2. Q:___ middle aged?
A:No, he isn't.
a. Heis
b. Hehas
c. Sheis
d. Ishe
3. Q: Are you married?
A:No, .
a. youaren't
b. we are
c. I'mnot
d. itisn't
4, Q:_ from Vietnam?
A: No, they aren't.
a. Are they
b. They are
c. Weare
d. Isit
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Yes/No
Indicate whether you agree with the statement.

Read the story. Answer Y (yes) or N (no).

My name is Richard. This is my wife, Tanya. We have two daughters. My parents live in New
Jersey. I e-mail my parents once a week. Tanya has a cell phone. She calls her father in the
Philippines. She calls him once a month.

5. Richard is married.
6. Richard has a son.
7. Richard's parents live in New Jersey.

8. Tanya calls her father once a month.

Completion
Complete each statement.

Look at the picture. Complete the sentence with an adjective.

9. She's

10. Sheisn't
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11.

12.

Matching

13.
14.
15.
16.
17.
18.
19.

Complete the sentence.

He's 50 years old. He's

I am the opposite of heavy. I'm

Match the two statements that have the same meaning.
My brother is heavy.

My hair is short.

Mario isn't married.

His hair is straight.

Bruno is old.

He is tall.

He's bald.
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He is single.
He isn't thin.

It isn't curly.

It isn't long.
He isn't young.
He has no hair.

He isn't short.

Short Answer

20.

21.

22.

23.

Write the date using words and numbers.

2/14/10

9/572

8/12/98

06/05/1940
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Use the words to write a question.

24.

| old how is Anita
25.

I your how are parents old
26.

| I how old am
27.

| his is father old how

ID: A



